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MAHA BEDHISEHOBI
2024:86IENCE REVIEW 1
PRIMARY THREE

£ Dater:24 April 2094

Class : Primarg 5 .

Parent's'signature s _ . .

t. Adam planted d groen beafvand obseried itfor twoWisks, He rétarded his

observations iri a table befovs

Gay 0 weeki s ]

Based on the observation above, which of the following characteristics:of living
things. did hie obsetve?

(1} Livihg things arow.

(2)  Living things feproduge.

()  Living things-respinid taschangss;

(4)  Living things need &lr; Tood; andwaer to survive,

2. Whichiof the followling statrvisnts fs titis or alf plants?
(%) Ali plants are green.
@) Albplatits beaifrults.
(3 Allplarits makethielr own food,
(4)  Alfplants reprodce By spores: ¢ )

Marks:| /4]




amnp

1}
2)
{3
)

ibian?

jnsect,

Thiey live on land only.

They reproduce by Taying €ggs.
‘they have the samie fype of body eovering.

The:diagram below shows animal Ewith.webbed feet:

webbed feet -

The fable below shows hoW animals-<anybe grouped.

Wit of the following is a common characterisiic of an inseet and. an:
i

" Lays €608

B

b

Wiichiletter A, B, Gior D best represants animal & in the tablerabove?

@
wy

A

B
D

g

Marks 3 14
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5 Whrchﬂffhefeﬁewmg§faiementsab0utfungf énd bacteria are truey

(Y Asind Bisly
@ G andDonly
®

4y

tesent.

Sharadteristic. & pressftiwhile & (X)'shows that the

Living things.

Gharacteristics

E

G

has:spore bags

5

v

%

can move from.one place to

X

X

can:make its-ownfood

X
v

Marks :

‘Which of thé: drganisisiabiovs, £, F, GorH, represents a flowefng plart?
@ E
@ F
@ o
@ H
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Siidythe classificatioh table:aiid the three.animals: J; K-and L.

Arimal K

Animl L

Body:covering

i

Tl | K |

|-

Miirks 3.

rz|
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&  Studyihe fowehart below.
Living things:

Does iEgrows ”° M.

ves

| ves

“ Does itreproduce™_no [T}
. By spores?

yes

la]

Which one of the-livirig things above, M, N, P or @, represents a-fungi?

(1 M
@ N
@ Q




SECTION B3 514 marks]
For questions 9 to: 12, Writs your answers:in this. bEokret.

THe ritifnber of piarks: available 1§:shown inthe brackets [ 1atthe end ofesch-

guestionor pa“niquastson,

9. The diagrams below:show o contairiers. A and B containing a rat edch.

covers with holes:

contamey B

cortgineE A L o , : N,
nowater IR watar

(@) Wiy weie covers with holes.used for the confafiers?

i

(b) Scsmexm?e knoeked ohithesce
d_away‘ sy it g.
actenstits of fung things:did the;) rats show?

.r. Duting this time, the rafs jumped

]

()  The ratinonenf ine sontainers died after1 week,
In which-coplginer; A or B, did thie ratdig? B

Ei’plam YOUFranswek.

2}

Warkss

14
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(e  Staje-which group of plants the tree above belorgs:o, [#

(b  Give areason foy yolit-answer in (a); JE7]

(©)  Stale thedifference between howthe tree'and a fer reproduce. a1




.

(a)

Raitie observed an animal duging her rip Yo the-zee and made the following:

S"lafemems abait e gnimal.

£ ‘Ammai,Cé h‘as'a dry sc:aly.‘skm &Y its.outer cuverng.
) ‘Whichparimal group doss aiimal G balorigto? 4

Aniinalgrati:

{fy  Stateorieother characteristic thatanimals in the sane: aninial group ag
shindal G have. &3]

| Boesit give birth to
its young:: aiwe’?

Yes l

0}

&
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Bread & With- Watér gprinkied Bread T with water remdved

Aftera week; he spoited:grey lfving thing X growing rioné of the bisadsas
shbwit below.

[wmg thing: )C‘

(8)  Whatisthe:grey:lving thing X? [

(b)  Which bread Sior T would have (iving thing X growing on it? 1

{6)  Give greason why IiVing thing X giewbivone bread and nefthe other:
&)

Marks: 134

~ END:OF PAPER ~
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Q1)

Q2)

Q3)

Q4)

5)

Q6)

Q7)

Qs)

NN B - N ] W]

Q9)

a} To allow air to enter for the rat to breathe.

b) The rats showed that living things respond to changes.

¢) The rat died in container A. Living things need water to survive
and as their was no water in container A the rat in container A
died.

Q10)

a) The tree above belongs to the flowering plant group.

b) If the tree above is a flowering plant, the tree would have flowers
that wilt turn into fruits and as the free abhove has fruits, the tree is
a flowering plant.

¢) The tree reproduces by seeds while a fern reproduces by spores.

Q11)

a)ijReptile '

if)They reproduce by laying eggs. /T hey breathe through lungs.
b}i)Animal E breathes through gills while animal F does not breathe
through gills.

) This animal would most likely be animal D.

Q12}

a) They grey living thing X is bread mould.

b} Bread S would have living thing X.

¢} Bread S has water but T done not have water. Mould needs water
fo grow.

Pgl
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